Find the coordinates of the intersection of the following lines.

Find the equation of the following line.

ry 3x 1 ry 2x 1
{y x 1 {y X 1
y 3x 1
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0 2 X 2
2 X 2 X 1
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y 1 1 2
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Find the equation of the following line.
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passed straight line
y 3x 2
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3
slope
y 1 3(x 3)
y 1 3x 9
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Find the coordinates of the intersection of the following lines. Find the equation of the following line.
2 2
(1){y 3 X 2 (1){y 3 X 2
y X 3 y 2X 2
2
y 3 X 2
)y X 3
5
0 3 X 5
y X 3
5x 15 0
2
—= X 2
X 3 y 3
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—X
y > 3
y 3 3 0 3 X
y o 2
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2
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Find the equation of the following line.
y 3 3 0
@f3X 2y 4 0 @f 3Xx 2y 6 0 (4,3) (6,2)
{2x3y60 {2x3y9 0
y 2x 1 y 3x 1
x2 x3
6X 4y 8 0 2
) 6Xx 9y 18 0 y 3 2(x 4)
5y 10 0 y 3 2x 8
>y 100 y 2x 5
5y 10 y 2
y 2x 1 y 3x 1
1
2
2x 3x(2) 6 0
1
3 — X 4
2 X 0 X 0 y 2( )
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1
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Find the coordinates of the intersection of the following lines.

Find the equation of the following line.

1 1
(1){y > x 1 (1){y , X 3
y 2X 4 y 2x 2
1
Yy 2X 1
)y 2 X 4
5
0 2X 5
Yy X 1
5x 10 O
2 X 4
X 2 y
Yy 2 X 1
y 2 x2 4 0 y 1y 4
2
(2.0)
1
2X 1 2 X 4
X 2 4 X 8
5 X 10 X 2
Find the equation of the following line.
y 2 x2 4 0
@fX 2y 2 0 @Qf X 2y 6 0 (0, 1) (0,3)
{2xy1 0 {2xy3 0
y 2 X 4 y 2x 3
x2
X 2y 2 0
) 4x 2y 2 0 y (1) 2(x o)
3 x 0 y 1 2 X
y 2 X 1
3 X 0 X 0
y 2X 4 Yy 2 X 3
2x0 VY 1 0
1
y (1) —(Kx o
y 2 x0 1 1
1
y 1 2X
(o, 1)
y Lx 1
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Find the coordinates of the intersection of the following lines. Find the equation of the following line.
1 1
(1){y 3 x 1 (1){y , x 3
1
Yy 3 X 1 Yy Tx 3
1
y 3 X 1
)y 3 x 1
10
0 3 X
y 3 X 1
13—Ox 0 x 0
X 3
y 2
y 1
1
—X 1
(o, 1) Y 3
1
3 X 1 3 X 1
X 3 9 X 3
10 x O X 0
Find the equation of the following line.
y 1
@fX 2y 6 0 @Qf2x y 2 0 (3.2) (4.1)
{2x y 2 0 {zx y 2 0 .
2 yoogxod yooox 3
e 1
3
2X 4y 12 0
J2x y 20 y 2 %(X 3)
5y 10 0 1
y 2 TX 1
5y 10 0
Ay
5y 10 y 2 y 73
y Ly o1 y —/x 3
3 2
2x 3x(2) 6 0 3
2% 0 X0 y 2 3(x 3
(0. 2)
y 2 3 X 9
y 3 X 11
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1:3x vy 2 0 A B l:x 2y 2 0 A B
B (p.a) B (p.a)
Find the coordinates of point B, which is symmetrical to point A with respect to Find the coordinates of point B, which is symmetrical to point A with respect to
the straight line : 3x y 2=0. Let the coordinates of point B be (p , q). the straight line : x 2y 2=0. Let the coordinates of point B be (p , q).
A(4,0) A(3,2)
1
| | —
slope 3 2
qg O q 2
A slope p 4 AB P 3
| AB | AB
prependicular
g o0 q 2 1
0 4 x 3 1 p 3qg 4 0 0 3 x ( > ) 1 2p q 4 0
p 4 q o0 p 3 q 2
AB midpoint ( 2 ’ 2 ) AB ( 2 ’ 2
. 1
on the strauht line |
p 4 q O b 3,9 2 5,
3 x > > 2 0 2 2
3p g 8 0 p 2q 3 0
, p 2, q 2 , p 1, q 2
, B (2,2) , B (1, 2)
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l:2x vy 2 0 A B l:x 2y 4 0 A B
B (p.a) B (p.a)
Find the coordinates of point B, which is symmetrical to point A with respect to Find the coordinates of point B, which is symmetrical to point A with respect to
the straight line I: 2x y 2=0. Let the coordinates of point B be (p , q). the straight line I: x 2y 4=0. Let the coordinates of point B be (p , q).
A(2,3) A(3,1)
1
| 2 | —
slope 2
9 3 a1
AB slope p 2 AB p 3
| AB | AB
prependicular
q 3 q 1 1
S x(2) 1 p 29 4 0 3 X, 1 2p q 7 0
p 2 q 3 p 3 q 1
AB midpoint ( 2 ’ 2 ) AB ( 2 ’ 2
. |
on the strauht line |
p 2 q 3 p_ 3 q 1
2 % 5 5 2 0 5 2 x 5 4 0
2p qg 3 0 p 2q 9 0
1 p 2 ’ q 1 ’ p 1 ’ q 5
. B (2,1) , B (1.5)




1:3x y 1 O A B
B (p.a)

Find the coordinates of point B, which is symmetrical to point A with respect to
the straight line I: 3x y 1=0. Let the coordinates of point B be (p , q).

l:x 3y 3 0 A B
B (p.a)

Find the coordinates of point B, which is symmetrical to point A with respect to
the straight line I: x 3y 3=0. Let the coordinates of point B be (p , q).

A(3.2) A(2,5)
_1
I slope 3 I 3
q 2 q 5
AB slope p 3 AB p 2
| AB | AB
prependicular
q 2 q 5 1
03 x(3) 1 p 3qg 3 0 R 1 3p g 11 0
p 3 q 2 p 2 q 5
AB midpoint ( 2 ’ 2 ) AB ( 2 ’ 2 )
|
on the strauht line |
p 3 q 2 p 2 q 5
3 p qg 9 0 p 3q 7 0
, p 3,9 0 , p 4,9 1
, B ( 3,0) , B (4, 1)
Al 3,0) Al4, 1)




